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01EE =7 13 LealX BAL ~ 2AL
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SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
CEIPN 4,994,620 4,810,350 184,270
2 637,312 638,532 A1,220
| 610,542 609,883 659
= 5,671 5,671 0
= 293,579 290,313 3,266
2 3,447,516 3,265,951 181,565
AL B 3,559,648 3,271,994 287,654
2 565,955 565,955 0
| 485,778 476,169 9,609
= 5,671 5,671 0
< 237,120 239,836 ~2,716
2 2,265,124 1,984,363 280,761
SAOARAIE DI PE 1,203,880 876, 150 327,730
2 565,955 565,955 0
| 7,39 7,443 A4T
= 70,745 70,745 0
2 559, 784 232,007 307,777
SO0|Z 0|2 MHI A A 1,177,436 848,936 328,500
2 565,955 565,955 0
< 70,745 70,745 0
2 540,736 212,236 328,500
401 AIZHIL 2O 1,044,036 715,536 328,500
2 477,004 477,024 0
= 59,626 59,626 0
2 507,386 178,886 328,500
01 Al 1,019,013 701,013 318,000
OBMBATEL O[HAS SHY|
A 320,050,0008 * 6. 1306% 19,621 13,621 6,000
2 9,081 9,081 0
< 1,135 1,135 0
2 9,405 3,405 6,000
OBMEATEA O|HAE ZAHY|
A 2,147,986.5772 * 149m 320,050 220,050 100,000
2 146,700 146,700 0
= 18,337 18,337 0
2 155,013 55,013 100,000
OELHTEA O|HAE HHH|
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2 9,081 9,081 0
= 1,134 1,134 0
2 9,406 3,406 6,000
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2 146,700 146,700 0
= 18,337 18,337 0
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2 9,081 9,081 0
= 1,134 1,134 0
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= 146,700 146,700 0
= 18,337 18,337 0
z 155,013 55,013 100,000
02 22l 14,619 10,119 4,500
OBMBATEA OIFAS 22/H|
2T 320,050,0008 * 1.5024% 4,873 3,373 1,500
= 2,248 2,248 0
= 282 282 0
z 2,343 843 1,500
OEBATEA O|FAZ 22/H|
2T 320,050,0008 * 1.5024% 4,873 3,373 1,500
= 2,248 2,248 0
= 282 282 0
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ODYBAREA O|FAZ 22/H|
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= 2,248 2,248 0
= 282 282 0
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03 Al&SCHYI 10,404 4,404 6,000
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2 320,050,0002! * 1.0835% 3,468 1,468 2,000
= 979 979 0
= 122 122 0
z 2,367 367 2,000
OREATEA OIFAS =0HY|
2 320,050,0008 * 1.0835% 3,468 1,468 2,000
= 979 979 0
< 122 122 0
= 2,367 367 2,000
ODIYEARR A O|FAS 20|
2 320,050,0002! * 1.0835% 3,468 1,468 2,000
= 979 979 0
= 122 122 0
= 2,367 367 2,000
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p 5,096 5,143 N
z 2,548 2,571 ~23
405 Xt&HE S 7,644 7,714 AT0
p 5,096 5,143 N
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01 RtArYSEFSH| 7,644 7,714 AT0
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01 Al 13,300 14,000 AT00

OR2AA LBAE B4 TAHI(2014E)
A 4,300,008 * 14 4,300 5,000 ATO0
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= 1,651 660 991
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2 1,518 1,541 ~23
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= 426 435 A9
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NIEECEEN 2,838 2,903 A65
O8tolot XY BAMNY IR 2L
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| 1,419 1,452 A33

= 426 435 A9

2 993 1,016 ~23

BAYZ2Y 75,707 85,272 £9,565
201 2er2 | 21, 184 26,939 A5,755
01 AR eIl 13,204 14,674 A1,470

Olger+gH] 9,070 10,540 A1,470
OFAA Ha ST £+2(20L4ED)
AH 177,502 * 122 2,130 3,600 A1,470
2 ZZ2YH) 6,450 10,565 A4,115
CINEETIEV 6,450 10,565 ~4,115
OSAFSBAAY T2 2G| (20ME
2) AT 505,0008 + 22 1,050 5,165 A4,115
03 EAI2 Y| 1,530 1,700 AT70
OB AL LHA 2YHI (R LEY)
A 1,530,0008 * 13l 1,530 1,700 ATT0
01 YLrBAE 1,975 2,205 £230
10 BAHAHI A3 1,975 2,205 £230
OslE AT STHI(2UME)
A 7,002 * 73.5721 23] 1,030 1,260 £230
307 eI2H0IE 27,270 30,300 £3,030
NIEEEEET 3,230 14,700 A1,470
ONASS SHHIIFYL ATY(SHARY)

Z& 100,000& = 30&! 3,000 3,900 A900
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ONAS 22HSE MHet== XA (S0 AEZ)
& 150,000& » 56.20t 8,430 9,000 A570
02 fItAAE X 14,040 15,600 1,560
OBAXZA 2HEAS XA (202
23 90,0008 » 13HA « 128 14,040 15,600 A 1,560
405 XtobE SHI 10,450 11,000 A550
01 ML ESF=H 10,450 11,000 A 550
OE2A4 Y SSHAFH LH(S0AEZ)
ZF 790,000& » 5CH 3,950 4,500 A550
2AXNL2H 17,405 22,520 A5,115
201 LEt=EH| 15,220 20,220 /5,000
01 AtR2teld] 7,400 8,400 1,000
Olger==8Hl] 4,400 5,400 A 1,000
ORI ZHLEHIIE M =+2(2
OlatE2) BFE 36,6668 » 100HA 128 4,400 5,400 ~1,000
02 3224l 7,820 11,820 24,000
O[A&ZHI=XHl] 7,820 11,820 24,000
ORI A2 FH| =& (20 A=)
Z3d 97,3333 * 33 » 10004 2,920 3,600 A 680
OBAXA XNURUE =EHI(20HAEZ)
Z2F 500,000 * 23 1,000 4,320 ~3,320
405 XtotE SHI 2,185 2,300 A115
01 MM =SFSHI 2,185 2,300 A115
OZ2X A dueegd| 2L (42 2) (20014
22) 23 2,185,0008 » 1044 2,185 2,300 A115
NE=PNE 225,020 243,880 A 18,860
307 G12+0ld 225,020 243,880 A 18,860
01 A=Y F = 225,020 243,880 18,860
Ogetalg o8 FU(SUAEZ)
Z & 4,300,000& * 54 * 43] 86,000 126,000 40,000
Ostetalg otE PA(20aAEZ)
& 1,188,750 * 4042 + 43] 19,020 21,600 A2,580
O =28 egdEs 45 7Y
26,0003 * 7202 18,720 0 18,720
OolsEAdL dgsdg 2¢
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201 e ] 3,841 3,637 204
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